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Devendra Jhajharia, who was elected as President,
Paralympic Committee of India for 2024-28 is
related to the sport of:

Choose the most appropriate answer from the
options given below:

(A) Discus Throw (B)
(C) High Jump (D)
(E)  Question not attempted

A T YAeiUeh i 2024-28 T Afufd & Teae
oz g o o & e 27

frfeRad foskedt @ & @afiere Iug ST
(A) T (B) T %eh

© FfER (D) =l

(E) i@ yy

Javelin Throw

Long Jump

How many seats were won by the leading political
party in Rajasthan Assembly elections held in
20232

Choose the most appropriate answer from the

options given below.

2023 H TSTET forerret =qma # 7ot Teiifash
frfafead faeredt 4 & @aifaes 39g® ST IA:
(A) 129 (B) 108

(©) 114 (D) 135

(E)  Question not attempted / ﬂ@ﬂﬁﬁ Iq

In how many phases was the election of the
Rajasthan Legislative Assembly 2023 held?

Choose the most appropriate answer from the

options given below.

TTET foremrenT o forh <mer 2023 fofae =t &
srrnfera fore w0

Freferfan frpedt § & warifire Suw S
(A) 01
(B) 02
(C) 04
(D) 03

(E)  Question not attempted / ﬂflj?lﬁ?f Iq
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Name the Saka Kshatrapas who controlled the
popular tourist destinations of Pushkar?

Choose the most appropriate answer from the
options given below:

(A) RudradamanI (B)
(C) Nahapana (D) Rudra Simha III
(E)  Question not attempted

I T G H AW T3 SR TR & AT
e wod sl FRif foram
frfaiaa fosredt # @ @aifae 3ugw I 91
(A) wEEEHI (B) IuNE™AI

(C) ATEUmHT (D)  wZTEERT I

(E) rgaid o

Yashodaman I

Where is the Mehrangarh fort situated in
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jodhpur (B) Jaisalmer

(C) Jalore (D) Jhalawar

(E)  Question not attempted

TSR H HEUTS fefet ahe fbord 27
Frmaferfiae feeped B & wafires sugw Sa0
(A) SR (B) &AW

(C) SR (D) FTAETS

(E) It g

The Junagarh fort is situated in which city of
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jaipur (B) Kota

(C) Barmer (D) Bikaner

(E)  Question not attempted

TSTET o Tor®l STEC | SATTG fohett fra 82
frefetRad fospedt @ & wafieres Iag ST
(A) SR (B) bl

(C) ST (D) T

(E) raid 9
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Mention the date on which the Princely State of
Bikaner formally integrated into the United State
of Rajasthan?

Choose the most appropriate answer from the

options given below:
(A) 7™ April 1949
(B) 8t April 1946
(C) 7t April 1948
(D) 8t April 1948
(E)  Question not attempted

39 T4ty w1 == HIfVT S seRHT ol ST
TR Y ¥ HIH TSTEAM TR H WAt &l
™

frfeiad fospedt § & wafiere 3ug ST

(A) 7 3TI 1949
(B) 8 37U 1946
(C) 73T 1948
(D) 8 37T 1948
(E) 3Tl o=

Which of the following dam projects is not
situated in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Sidhmukh Dam Project

(B) Meja Dam Project

(C) Jawai Dam Project

(D) Damodar Valley Project

(E)  Question not attempted

ffafed & @ wF-E st afEisET aeee |§
fore et 22

frfeRad fospedt @ & wafiere Iug ST
(A) TrgwE stg afErsHT

(B)  TIT sty qfeSHT

(C) s site ST

(D) MG =T UTRISHT

(E) 3Tl o=

JKL-Z10] |
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Where is Panchana dam situated in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Bikaner

(B) Karauli

(C) Kota

(D) Sikar

(E)  Question not attempted
T ST TSTET | et o 82
Freiferfiae bt 2 & warfores suge a0
(A) R

(B) e

(C) ler

(D) Hi

(E) 3Igdia gy

Arrange the following districts of Rajasthan in
descending order according to population density
in 2011 census?

a. Bharatpur

b.  Jaipur
c. Ajmer
d. Alwar

mﬁ:ﬁmﬁmﬁlﬁﬁzollﬁw%
HTIR W SIEEAT g % STTER AU 77 |
Fafyd shifs

a. HidYl
b. SAR

c. IR
d. 3T

Choose the most appropriate answer from the

options given below:

e foq e foreredt & @ wariferes 3Ug ST A
(A) b,a,c,d
(B) b,d,a,c
(C) b,a,d,c
(D) a,b,c,d
(E)  Question not attempted / 311?!'&?[ BE)
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11  The oxygenated blood is transported from heart | 13  Air rushes into the lungs of a human being during
to various organs of our body through-
Choose the most appropriate answer from the Choose the most appropriate answer from the
options given below:
(A) Arteries

options given below:

(A) Inhalation

(B) Veins .
. . (B) Exhalation
(C) Both arteries and veins . . .
(D) Lymph (C) Both inhalation and exhalation
(E)  Question not attempted (D) Neither inhalation nor exhalation
ARSI F[eR g8 & IR o Ty i 7 fohes (E)  Question not attempted
ST & ST ST 22 T AT | o SR a1 FS H ST 8
frfafaa faeredt @ & @aifaes I9g® ST IA: frfaiad fosredt 7 @ waifae 3ugw 3ut 91:
(A) e (A) g
(B) ﬁrrmﬁ _ (B) fe-aEd
© e ST Rt < (C) 3T - 48 R - a8
() fewwerei _ |
B raha (D) T 3 g IR T & Sl awe
? (B) Sraiass

12 Which of the following are the parts of human

male reproductive system? ] o
14 Which of the following is true about CARI-

a. Uterus
()
b. Urethra SONALT’
c. Prostate gland Choose the most appropriate answer from the
d. Fallopian tubes options given below:
€. Vas deferens (A) Dual Purpose Chicken

Choose the most appropriate answer from the ) . .
) ) (B) Commercial Broiler Chicken
options given below:

(A) a,bandeonly (B) a,canddonly (C) Commercially White egg laying chicken

(C) b,candeonly (D) bandeonly (D) Commercially Brown egg laying chicken
(E)  Question not attempted

frmforfigd & & =91 9T 7 IS 5 ST 9ET 22

(E)  Question not attempted

J— - frfafea & @ &6 - 9Tl (CARI-SONALI) &
b. T () R H AT HE 22

c. WEZUHR frmfeiaa forsredt 7 @ waffas 3uges o :
d. feaanfeem (A) FIELIRA AT oot

e. BRATEH y

13 e et & v s ®) i e e

(A) Faea,b3ie (B) Haela,c3id (C)  afurfsarch wtha sier o aret foreh

(C) aeb,c3e (D) Hadb3IRe (D)  aTfOToeR WY 37T o aTet Fereht

(E)  STara s (E) rgaid 9
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Mastitis disease is found in which combination of
following herd/flock?

Choose the most appropriate answer from the
options given below:

(A) Cattle including buffaloes

(B) Sheep and goat

(C) Pigand Goat

(D) Sheep and fowl

(E)  Question not attempted
Trefetiae 5 & fore 3w () o ere (ARefew) T
T ST 22

frfafaa faeredt # & @aifaes Iug® ST IA:
(A) ST o |rer ot (7T

(B) ¥ IR TH

(C) YW IR H

(D) s R

(E) 3rfaiays

Name of the first cloned sheep was
Choose the most appropriate answer from the
options given below:

(A) Rosie (B) Molly

(C) Dolly (D) Poly

(E)  Question not attempted

o T8 FA ol 115 9 T 19 oAT:
frfaRad foskedt @ & @afiere Iug S
(A) TSt (B) It

(C) Sreft (D) it

(E) i yy

Granular white ghee obtained from buffalo is due
to the feeding of cakes.

Choose the most appropriate answer from the
options given below:

(A) Cottonseed (B) Mustard

(C) Linseed (D) Groundnut

(E)  Question not attempted

49 % 39 ¥ T3 IMER Hft U F F faw 3%
EIRCRIRCRIFS IR

frfafead faeredt 4 & @aifas 3ag® ST

(A) FAEHRSS  (B) @l

(C) 3Tt (D) AT

(E) i@ yy

JKL-Z10] |
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In which year was the Jaipur Praja Mandal
formed?

Choose the most appropriate answer from the
options given below:

foret ol 7 SRITL SISIT Heet o 13 311

et fow e foreedt & ward 3ugw S |
(A) 1931 (B) 1932
(€) 1933 (D) 1934

(E)  Question not attempted / 31':5!'&?[ 99

When was Maharana Pratap crowned as king?
Choose the most appropriate answer from the
options given below:

(A) 28" February 1572

(B) 28" February 1573

(C) 28" February 1574

(D) 28" February 1575

(E)  Question not attempted

HERIUTT TATT 3 TSI o ©9 § TSITET ohel GHTAT?
frfaiad fokedt 7 @ @aifae 3ugw ot I1:
(A) 28 WAl 1572

(B) 28Il 1573

(C) 28 WLl 1574

(D) 28 ®E 1575

(E) raid 9

Name the famous form of Rajasthan folk theatre.

Choose the most appropriate answer from the

options given below:

(A) Dashavtar (B) Jatra
(C) Swang (D) Bhawai
(E)  Question not attempted

TSTEAT o YT Aok TTH T ATH SIq18U)

frfaRad foeredt 7 @ waifae 3ugw 3t I1:
(A) SEMEAR (B) SET
(©) = (D) &g
(E) I g4
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In how many main groups has Dr. Grierson
divided the Rajasthani dialects?

Choose the most appropriate answer from the
options given below:

. e 3 ToreT Siferlt ol foh e el §
forwrfora foram 22

it fow 7T foehedt 7 @ @ar® UG S|
(A) 2 B) 3
©) 4 D) 5

(E)  Question not attempted / ﬂfﬁﬁﬁ Iq

From which “Apabhramsa” language, did the
Rajasthani language not evolve?

Choose the most appropriate answer from the
options given below:

(A) Shaurseni Apabhramsa

(B) Nagar Apabhramsa

(C) Marugujari Apabhramsa

(D) Magadhi Apabhramsa

(E)  Question not attempted
TSTETHT ATST ST foreRrer forer “aTasier wmor & 2
TR

Tt fospedl 4 & @aifere 3ug St +:
(A) TIREH@EY  (B) AR 19UI;

(C) W& TS STHT (D) AT 3TT¥T

(E) 3Tl o1

The poetic text which describes the greatness of a
king, his conquests, wars and valour is called:
Choose the most appropriate answer from the
options given below:

(A) Veli (B) Vigat

(C) Raso (D) Prakas

(E)  Question not attempted

IT T T, ST ToRET TSI Al HETAT, IJHeh! forea,
T, ST AT BT U ShElT 2, FEeTT 2
frfafead faeredt § & waifaes Iag® 3T IA:
(A) It B) fore

(C) T (D) FH

(E) a9

JKL-Z10] |
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Which of the following departments has imposed

a ban on the manufacture, import, stocking, sale

and use of plastic carry bags in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Rajasthan State Pollution Control Board

(B) Education department

(C) Tourism department

(D) Information and public relations
department

(E)  Question not attempted

farefefaa & @ g™ 7 frg fowmr 3 wiftes
Sferat o fmtor, st vero, fashr 3t suamT 9t
yfesier & feam 22

frfaiad foeredt # @ waifae 3ugw St 91
(A) TSR Y3 FgoT (=0 it

(B)  favear farmr

(C) v faamr

(D)  F=T TE SIEFIeh T

(E) 3T g4

Which of the following villages of Rajasthan is
winner of the “Best Tourism Villages
Competition-2024” in the category of
‘Community Based Tourism’ by the Ministry of
Tourism Government of India?

Choose the most appropriate answer from the
options given below:

(A) Deomali (B) Kuchaman

(C) Kumbhalgarh (D) Ranakpur

(E)  Question not attempted

TSR T FAffad & & &9 97 19 9Ra §ehR
o QS WA T R AT wie s 2oft
T g9y e e gfrnfir-2024° 1 fasrar 22

frefetRad fospedt @ & wafieres Iag ST
(A) <THTeAt (B) =™
(C) HFATTg (D) TTHYL
(E) It g
[ Contd...
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The main objective of “Heal in Rajasthan” is:
Choose the most appropriate answer from the
options given below:

(A) To recover Rajasthan tourism from the
losses during Corona period.

(B) To establish hubs for medical tourism,
catering to both domestic and international
tourists for secondary, tertiary and
quarternary care procedures.

(C) To promote Rajasthan folk festival at
international level.

(D) A scheme for large scale afforestation in
Rajasthan.

(E)  Question not attempted

et 37 T Al 1 e e A E?

frfafead faeredl 4 @ waifas sag® T

(A) FRAT e § g AR Y TR W
ST

(B) U quT STRi wieant o fordr afeshar
THie ] fdtas, qae qoT e Su=m
@I ToRaTaT ok forat & ol forenmal

(C) TSN & oAleh Scddl ol ST TR W
FTaT &l

(D) TSN o oI T W GRG0/ 10T ht
T I

(E) 3Tl o1

The “Trinetra Ganesh Ji” Temple of Rajasthan is
located in:-

Choose the most appropriate answer from the
options give below.

(A) Jaisalmer Fort (B)
(C) Bhangarh Fort (D)
(E)  Question not attempted

TSTEAT ShT P31 T0TeT S HfeT shat feord 22

Ranthambore Fort
Kumbhalgarh Fort

frfafad faeredt 4 & @aifaes 3ag® ST IA:
(A) SETHRTRAT  (B) TR R
(C) wGfher (D) FierTg ot

(E) Srgaiaug

JKL-Z10] |
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Which city of Rajasthan was nominated (as on
September, 2024) for Wetland City Accreditation
(WCA)?

Choose the most appropriate answer from the
options given below:

(A) Jaipur (B)
(C) Udaipur (D)
(E)  Question not attempted

FrAfafad & 9 TS 1 IF-91 W6 decis e
ufshfedT (WCA) = 1fHa (fodsr 2024 @ %

Jodhpur
Jaisalmer

STIER) foparr e 22

frfaiad fosredt # @ @aifae 3ugw ot 91:
(A) IR (B) SR

(C) 3L (D) SEAR

(E) raid 9

In which year did India’s Prime Minister launch
the 5G services?

Choose the most appropriate answer from the
options given below:

(A) 2019 (B) 2020

(C) 2021 (D) 2022

(E)  Question not attempted

TR o ST § fofg 99 o SG HaTl 1 AT
foram?

refcTRad fospedt § & aafieres Iag AT
(A) 2019% (B) 2020

(C) 2021 (D) 20227

(E) rgaid 9

‘Asop forest block’ in Shahpura, Rajasthan is
developed as a conservationreserve for
Choose the most appropriate answer from the

options given below:

(A) Camel (B) Black Buck

(C) Peacock (D) Tiger

(E)  Question not attempted

“THIY HIES STk’ TR, TSR H *

T T (sheta fiore) o &9 8 ok fomam
TR

frmferiaa forshedt 3 @ warffarss 3uge o I:
(A) e (B) s dh
) =R (D) ¥ (IER)
(E) raid 9
[ Contd...
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Which of the following are the main causes of
deforestation ?

a. Building houses and factories

b. Using land for cultivation

c. Conservation of wildlife

d. Making furniture

e. To improve soil quality

Choose the most appropriate answer from the
options given below:

(A) abandconly (B) b,canddonly

(C) a,bandeonly (D) a,bandd only

(E)  Question not attempted

frefaRad & & IHIFIE & HH-HH-H T&T HRO
L.

a. =X 3TN FHR@E &1 fmior

b. Wl o foTT S o1 F=RT

c. TSI T LG

Fffer s & forw

TR 3T TUTET § FUR % g
qﬁ%ﬁqw%{wﬁﬁwﬁwmwaﬁ

(A) HaeAa,b3Wc (B) Hadb, c3Id
(C) Fada, b3e (D) Hddla,b3HNd
(E) Srfaiayy

Which of the following is an artificial setting for
protection of wild animals?

Choose the most appropriate answer from the
options given below:

(A) National Park

(B) Biosphere Reserve

(C) Zoo

(D) Wildlife Sanctuary

(E)  Question not attempted

Fstiat & €@ & fou ffafaa o @ aH-d
o i

frfafead faeredt @ & @aifaes Iug® 3T IA:
(A) T aH

(B) wrEERR fise

) fafeamr

(D) TSIE IR

(E) 3Tl o=
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If 8x% — 24xy + 18y? = 0, then the ratio x : y is:
Afq 8x2 — 24xy + 18y? = 0, @l x - y T UM &
(A) 2:3 B) 3:2

© 4:9 (D) 9:4

(E)  Question not attempted / 31@?1'&?[ 949

The ratio of present ages of x’and ‘y’is 3 : 2. Six
years ago the ratio of their ages was 5 : 3. The
sum of their present ages is:

%’ 3Ry I T TR T ST 3 2 2 31 S a9
el 3FhT HATT T ST 5 : 3 AT 37T IqH 31T
T AT 2

(A) 50 B) 55

(©) 60 (D) 75

(E)  Question not attempted / agaﬁ‘cr Iq

If % of x= % of y, then by what percentage x is

more than y?

A x A =y F L, A,y A P Sl
3o 27

(A) 10% B) 20%

©) 15% D) 25%

(E)  Question not attempted / agaﬁ‘cr Iq

Who is the goalkeeper for team ‘Hockey
Rajasthan’ for 14™ Hockey India Junior Men’s
National Championship 2024?

Choose the most appropriate answer from the
options given below.

(A) Himanshu Kumar Sharma

(B) Lovish
(C) Anurag Suthar
(D) Meraj

(E)  Question not attempted

141 ETehT ST SRR 89 TS <TUasTd 2024 3
I EThT TTEATT o AT i 27
frfafad fasredt # @ waifae 3agw SR TH:
(A) ety gt

(B) ifersr

(C) ST EIR

(D) W

(E) 3Igdia g
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What was the ranking of India in Paris Olympics
2024 Medals Tally?

Choose the most appropriate answer from the
options given below:

(A) 69th (B) 70th

C©) 718t (D) 72nd

(E)  Question not attempted

2024 UfE ST o qqeh dTfciehT § HId o T
T UT?

frfafeaa faeredt 4 & @aifas 3ag® ST I
(A) 69af (B) 704t

(C) 714t (D) 724t

(E) 3Tl o1

Milk sugar is called:

Choose the most appropriate answer from the
options given below:

(A) Maltose (B) Lactose

(C) Fructose (D)  Sucrose

(E)  Question not attempted

ereiferfiea fashed i & warifores Sug I,
(A) W™ (B) WIS

(C) RIS (D) THE

(E) raid 9

Match List-I with List-I1:

List-I List-II

a. QGujjar Bakarwals I. Maharashtra

b. Gaddi II.  Jammu and Kashmir
c. Raikas III. Himachal Pradesh
d. Dhangars IV. Rajasthan

HAT-1 3 | Gi-11 T e shifeTg;:

Heit-1 Heit-11

a. TSSREHRET I HERE

b. T IL <P AR TR
c. TH 111 femTeret wewr

d. g IV. TSETH

Choose the most appropriate answer from the
options given below:

et faw T forehedt 7 @ warfferes 3uge 3o |
(A) a-I,b-ILc-I,d-1IV

(B) a-ILb-I,c-IV,d-1I

(©) a-ILb-Ic-IV,d-1I

(D) a-IILb-1V,c-1,d-1I

(E)  Question not attempted / \’ﬂaﬂ'ﬁﬁ Iq
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Maru Raikas settlements are called:
Choose the most appropriate answer from the
options given below:

(A) Igloo (B) Bhabar

(C) Dhandi (D) Basti

(E)  Question not attempted

T Tk 3 AT T e &:
frfafad fosreat # @ watfae 3agw® SR TH:
A) 7 (B) e

©) e (D) st

(E) I g

From the following physical regions of Rajasthan,
which region shares its boundary with Pakistan?
Choose the most appropriate answer from the
options given below:

(A) South Eastern Plateau Region

(B) Aravalli Region

(C) Eastern plain Region

(D) Western Desert Plain Region

(E)  Question not attempted

TS o Fefafaa Hifae (SThfaen) &= & 9
HIF-TT & UTIeREdT o BT 37O ETHT BT shiaT 82
Frfaiaa fopedt 3 @ @aifas 3ugw o I1:
(A) afeor geff Jor &

(B) ST &

(©) vt et &=

(D) ufsyi e e &

(E) It g

Which of the following regions does not receive
irrigation water from the Jakham dam project of
Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Chittorgarh (B) Udaipur

(C) Bikaner (D) Pratapgarh

(E)  Question not attempted

fFrfafaa & Teeam &1 SE-AT 87 SEw iy
giEnSHT 8 f=s St 9T e ar 22
frfafad fosredt # @ waifae sagw® S0 T
(A) TeriteTg (B) 3R
(C) diishri (D) wATTE
(E) It g
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Who among the following presented the Annual
Budget, for the Government of Rajasthan in July,
20242

Choose the most appropriate answer from the
options given below:

(A) Shri Kirodi Lal Meena

(B)  Shri Prem Chand Bairwa

(C) Smt. Diya Kumari

(D)  Shri Gajendra Singh Khinwsar (Khimsar)
(E)  Question not attempted

= o @ fope ST 2024 § USRI WHR H
ST SIS e fohaT?

frfeRad fospedt # & @afiere Iug ST
(A)  off fruet et Hom

(B) off Yo =g Sar

(C) 2wt foam ATl

(D) it Toiex fig Raawr (Rewew)

(E) a9

According to the modified budget 2024-25 of
Rajasthan, what amount in Rupees goes towards
interest payment?

Choose the most appropriate answer from the
options given below.

(A) T10.92

B) %772

(C) T892

(D) 20.07

(E)  Question not attempted
TSTET o AT Sofe 2024-25 o STTET ST shl
Tt i fohaT ®9 ST 82

Friferfa et 3 & wrartfires 3w 3w
(A) T10.92

(B) T7.72

(C) T892

(D) T 0.07

(E) 3Tl o=

JKL-Z10] |
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Which of the following state has been paired with
Rajasthan under the “Ek Bharat Shreshta Bharat”
scheme of government of India?

Choose the most appropriate answer from the
options given below.

(A) Manipur (B) Telangana

(C) Assam (D) Jharkhand

(E)  Question not attempted

TRA GHR o HIAHH “Teh WG JF IR % qed

=T & & TR T SRR TS i a1 22
et fow e fered § & @a@ Sugw ST -
(A) TR (B)  deiTHT

(C) AuH (D) wNEE

(E) 3Igdia gy

The average of first 11 multiples of 13 is:
13 3 o 11 TOTSAT 3T ST 2

(A) 76 B) 78

©) 77 (D) 91

(E)  Question not attempted / 37 )

The average runs scored by a batsman in 9 innings
is 55. How many runs he should score in 10th
innings so that his average runs scored

become 65?7

TS, FeciaTS GRT 9 TTET H 3H1|a 55 T ST ST
21 10T IRY & 3% ferd T ST foh 38eh T ol 3THa
65 BT S0

(A) 155 (B) 160

(C) 145 (D) 165

(E)  Question not attempted / 33[@?1'&?[ 99

L.CMof2.4,0.36 and 1.08 is:
2.4,0. 36 3 1.08 T AT FATIAI o

(A) 0.36 (B) 2592
(© 108 (D) 21.6
(E)  Question not attempted / Nﬂﬁﬁﬁ 99
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Who amongst the following Rajasthani women
players got the Arjuna Award in 2023?

Choose the most appropriate answer from the
options given below:

(A) Bhawani Singh

(B) Divyakriti Singh

(C) Mohana Singh

(D)  Avni Singh Rathore

(E)  Question not attempted

frfafiaa et wfear Raenfsat § & a9 2023
¥ foper 3Tl qEeRr ST fopam?

Frmaferfia frchedt & & wratfires 3ugw S0
(A) vt fg

(B) feorsfa fi

(C) wrerfae

(D) et Rig T

(E) i@y

Who is the Science and Technology Minister of
State (independent charge) in Rajasthan (as on
September, 2024)?

Choose the most appropriate answer from the
options given below:

(A) Bhupendra Yadav

(B) Sanjay Sharma

(C) Bhajan Lal Sharma

(D) Kal Raj Mishra

(E)  Question not attempted

TSI | I 3T derfieht Tor Wt (T Tm)
I (Raaweiz, 2024 ) 27

e e i & aratfores uge o o
(A) = AT

(B) ws@Eml

(C)  ¥ISH Tt Tl

(D) FHAUS W

(E) 3raid 94
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Shri Janki Lal Bhand, the famous Rajasthani who
was given ‘Padma Shri’ Award in 2024 is an
artistof

Choose the most appropriate answer from the
options given below:

(A) Pottery Art

(B) Painting

(C) Bahrupiya Art

(D) Ghoomar folk dance

(E)  Question not attempted

TSTEAT o o STl et i o 2024 & <ua 5
&R H GFATIA foraT T 6 FHATH 2|
ffafed fasheat # @ waifaes Iug® S0 I
(A) Tl (FFerD) Far

(B)  Tertera (dfam)

(C) wEHAT el

(D) AT I

(E) g gy

The difference between compound interest and
simple interest on a certain sum of money for 2
years at 4% interest per annum is ¥ 40, then the
sum of money is:

e Ffera aaufan T 4% anfier saret it e @ 2 9t
T TIhdfg, SATST ST BTETRT TS T ST 40 B, ¥
FE ST R

(A) 20,000 (B) 25,000

(©) T15,000 (D) 18,000

(E)  Question not attempted / 313!3?!'&?[ 949

A certain amount of money becomes thrice in 5
years at compound interest at a rate of 12% per
annum. In how many years it will become 9 times
of itself?

(A) 15 Years (B) 12 Years

(C) 10 Years (D) 8 Years

(E)  Question not attempted

T TS SRfRT 12% i 9 ashd e oaTs ol & 8
5 ot o off T B STelt 21 o€ Tehe ot o T <At 9
T & ST

(A) 159 (B) 129
(© 1oad (D) gad
(E) It g
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If the simple interest for 12 years be equal to 60%
of the principal, then in how many years will the

simple interest will be equal to the principal?

(A) 20years (B) 24 years
(C) 22years (D) 18 years
(E)  Question not attempted

TS 12 T HT AT TS Ik TALT FHT 60% 2,
ar fore aut & |TEROT A, qAUE % SRR &
ST

(A) 20T (B) 24T
(C) 2298 (D) 1898
(E) rJaid 9

The difference between principal and simple
interest for 5 years at a rate of 6% per annum is
¥ 3500, then the principal is:

6% AT TS 3T STH 5 N AT HTeT ST HTEROT
TS T AL 3500 2, A TToH 2:

(A) %6000 (B) %4000
(C) 5000 (D) 4500
(E)  Question not attempted / ﬂ@ﬁf{ﬁ Bl

To see an enlarged image of the teeth, dentists
use-
Choose the most appropriate answer from the

options given below:

(A) Plane mirror

(B) Convex mirror

(C) Concave mirror

(D) Kaleidoscope

(E)  Question not attempted

i o1 Srafeia affeier 3@ & forg gt 3 St g
SRINT feRaT STt 2-
frfeRaa fospedt @ & wafiere Iug ST
(A) HHdA U
(B) 30 gUUT
(C) 3Tadet guor
(D) hATZEIEhIT
(E) 3rgaid 94
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With reference to the reflection of light, which of

the following statements are correct?

a. The light ray which strikes any surface, is
called the incident ray.

b. The incident ray and the reflected ray, both
are perpendicular to each other.

c. The angle of incidence is always equal to the
angle of reflection.

d. The angle between the normal and incident

ray is called the angle of reflection.

Choose the most appropriate answer from the

options given below:

(A) a,banddonly

(B) b,canddonly

(C) canddonly

(D) aandconly

(E)  Question not attempted

TShIST o YEaH o Gy H, 1 T | Shi9-H7 e et
27

a. YeRIT T foRtor it forelt @ WX 2ot § 39
Tt fohaor hed

b.  FTfdd fehtor o g fehaor, ST Th gaL
Sead Bt &l

c.  STTUA IV HIT YL ShIVT o SIS BT 2

d.  SEE (A 7R Arafo fRtor o Teer o
T T 10T hed 2|

et fow e foeredt & @ watfaes suges s Tl
(A) FaTa, b3Id

(B) ddb, ¢ 3R d

(C) A c3d

(D) aTa 3

(E) raid 9
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When light falls on a shiny surface its direction is
changed. This is called of light.
Choose the most appropriate answer from the
options given below:

(A) reflection (B) refraction

(C) dispersion (D) scattering

(E)  Question not attempted

foRElT THERa T8 T JoRTRT ST STTITH B UK SHeh
faum wfiafda &1 STt 21 39 wehreT 6

FEd 2l
ffaiaa oot # @ waifas ugw s I4:
(A) e (B) 3Tuad

(C) ufemr (feausty (D) wehivfa
(E) i@ yy

A shopkeeper marked the price of an article
which is 20% more than its cost price. He sells
the article at a discount of 15%. What is his

percentage gain or loss?

(A) 5% gain (B) 2% gain

(C) 3% gain (D) 3% loss

(E)  Question not attempted

U TR Ueh T %l Hed Sifehd idl & S 38eh
I qT § 20% A4 8| T 39 a6q I 15% T
(STET) UL S ST &1 SR AT STAST BT ohT Fierwrd
T2

(A) 5% (B) 2%
(C) 3% (D) 3%@
(E) a9

What is the principal amount which earns ¥ 2420
as compound interest for second year at a rate of

10% per annum?

10% S o o & quv A o Sfa # % 2420 kAl
TS o &9 1 JTH B[ &, Al JTG 1 22

(A) 20,000 (B) 18,000
(C) 24,000 (D) 22,000
(E)  Question not attempted / ﬂ@ﬂﬁﬁ Iq
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In financial year 2023, 179 million domestic
tourists and 1.7 million international tourists
visited Rajasthan. The contribution of the tourism
sector to the state GDP is approximately:

Choose the most appropriate answer from the

options given below:

forT 3 2023 W TSR H 17.9 S WS Tleah
17 e foreft wiesh TSTeu 3T/ wier & TUsa
Hehcl =T 3CUTE H ST AMTE LT 8

frefafia fasedt & & @atfire sugw s o
(A) 8%

B) 10%

©)  12%

D) 15%

(E)  Question not attempted / H@ﬁﬁﬁ il

Recently in 2024, Rajasthan’s Animal Husbandry
and Dairy Minister launched camel milk with the
brand name:-
Choose the most appropriate answer from the
options given below:
(A) Saras
(B) Nandini
(C)  Urmul
(D) Amul
(E)  Question not attempted
=TT & 2024 H TSEA o UYMITer T Sl w0t g
St o1 g Tor st = & ST forarm i
Frerferfiae fasvest & & Frarifores 3w SO0
(A) "™
(B) Hfet
(C) I«
(D) 3HA
(E) 3Iqdita g
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Which of the following is not correct about the
National Mission for Green India (GIM)?
Choose the most appropriate answer from the

options given below:

(A) It is one of the nine missions outlined
under the National Action Plan on Climate
Change (NAPCC).

(B) It aims at protecting, restoring and
enhancing India’s diminishing forest
cover.

(C) Itenvisages a holistic view of greening.

(D) This mission has adopted an integral cross
sectoral approach.

(E)  Question not attempted

B e & fore adiar sifimm (Femet fime ®R
T SfeaT (GIM) % Hes H hi-81 e acd el 82
FfeTiiad foshedt # @ waffaes Iag 3T 9

(A) I I TRE T U F AT o A
FRigd AREF (FIeM) (NAPCC) & @ T
H

(B)  SHHT 3¢ WA o BI8/Hed A &1 ohl {TaT,
TEATOHT ST ST Ta <7 2

(C) R BT o T gEehivT il TiehedHT T
H

(D) 3@ e 7 % wHw i aeffr g
JTOTET R

(E) 3Tl o1

There are 40% girls and 60% boys in a class. If
the number of boys in the class is 7 more than the
number of girls, then the number of boys in the

class is:

Tk HETT T 40% TS AT ST 60% TG &l Afe el
T Sgehi shl AT il & 7 Aftreh B, of shear 8
TSI I AT =:

(A) 25 (B) 22
(© 21 (D) 20
(E)  Question not attempted / \'ﬂfﬁﬁﬁ 99
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The average of 9 consecutive natural numbers is
‘A’, then the average of the 5 largest numbers out

of the 9 numbers is:

AR 9 JTehfdeh Tt 1 3f|d ‘A° &, a3

0 ATl H ¥ 5 T S HEATSil A B
(A) A+4
(B) A+3
(C) A+2
(D) A+l

(E)  Question not attempted / T )

Who among the following has NEVER (as on
September, 2024) been the chief Minister of
Rajasthan?

Choose the most appropriate answer from the

options given below.

(A) Diya Kumari
(B)  Ashok Gehlot

(C)  Haridev Joshi

(D)  Bhairon Singh Shekhawat

(E)  Question not attempted

= 0 @ i el oft (fder, 2024 T % S1ER)
TSR 31 vt e T 272

frfafad faered 7 & @aifers sugw S I
(&) feargard

(B) 3Tk AT

(C) sfaa sief

(D) W i @

(E) 3Igdia g4
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According to the modified budget 2024-25 of
Rajasthan, how many rural households will
receive drinking water under “Jal Jeevan
Mission”?

Choose the most appropriate answer from the

options given below.

(A) 21Lac
(B) 15Lac
(C) 25Lac
(D) 27Lac

(E)  Question not attempted

TSIEI & qRafid asie 2024-25 & STER “Io
Sttt forerr & Sfarfa forae areioT o’ ek Tt & St
EGEIEEARSES R

Tt fospedt 4 & waifere 3ugw® 3t IH:
(A) 21d/@

(B) 15d@

(C) 259/

(D) 279/

(E) raid 9

The Indian Wildlife (Protection) Act was
implemented in:
Choose the most appropriate answer from the

options given below:

(A) 1968

(B) 1972

(C©) 1976

(D) 1981

(E)  Question not attempted

TR FISH1eT (BTETOT) SR ] g7 o
frfafaa faeredt # & @aifae 39g® 3T IA:
(A) 19687

(B) 19727%

(C) 1976%

(D) 19817%H

(E) Srfaiays
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The source book which keeps a record of all the
endangered plants and animals is called:

Choose the most appropriate answer from the
options given below:

(A) Red Data Book

(B)  White Data Book

(C) Yellow Data Book

(D) Black Data Book

(E)  Question not attempted

I8 A e (HT ) forem et deheraw wreut
HITSII3AT T I ST 3@ ST €, FEeATd &
frfafad fosheat # @ waifae 3ugw® ST TH:
(A) WEETH  (B) WESETH

(C) IMTRITH (D) A% SRITH

(E) I g

Which of the following rivers of Rajasthan falls
in the Gulf of Khambat?

Choose the most appropriate answer from the
options given below:

(A) Chambal (B) Mabhi
(C) Banas (D) Brahmani
(E)  Question not attempted

USRI § §& Tl (Hefeiad & & -t 4
GFATA <hl @l | Tt 22

ffeiaa foreat # @ @aifaes 3ugw S 91
(A) =S (B) W

(C) ™= (D) STai

(E) I g

Kolayat lake is situated in which of the following
places in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Udaipur (B) Bikaner
(C)  Jaipur (D) Kota
(E)  Question not attempted
TSTEAT | I S FHTTad § el [6od 82
frfafad fasredt # @ watfae sagw® S0 TH:
(A) IR (B) MR
(€) AR (D) e
(E) rgaid 9
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In which year did Maharana Bhupal Singh ascend
the Mewar Gaddi?

Choose the most appropriate answer from the

options given below:

fore o o weRTT uTe g 3 HaTe e HTedt?
frfafiaa faercdt @ & @aifae 3ug® ST IA:
(A) (B)
(©) (D)
(E)  Question not attempted / 3TTAI T4

1930 1931

1932 1934

Deficiency of which of the following causes
cracked feet in poultry?
Choose the most appropriate answer from the

options given below:

(A) Magnesium (B) Zinc
(C) Biotin (D) Vitamin D
(E)  Question not attempted

frfafaa o @ foraehl sl Fape § W e (shae
61T) T BT 22
Ffaiaa faeedl # & waifae 3ugw S 9

(A) TR B) =
(C) s (D) faafmD
(E) 3Tl o1

For artificial insemination frozen semen is
preserved at in liquid nitrogen.
Choose the most appropriate answer from the

options given below:

b mute o fore femefifoa e =1 g3 Ageiem &

I Rt feram ST 2
Frmafeian febedt 8 & aarffire Sug S
(A) -104°C (B) -110°C
(©) -160°C (D) -196°C
(E)  Question not attempted / \’ﬂaﬂ'ﬁﬁ Iq
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As per the classification of musical instruments,
to which family does the “Ektaara” belong?
Choose the most appropriate answer from the

options given below:

(A) Tat (B)  Sushir
(C) Avnadhya (D) Ghan
(E)  Question not attempted

T IAT & I TeRTor | “Tehd i forer o0 @ Heifera
7

frfaRad foeredt 7 @ waifae 3ugw ot 91:
(A) T (B) ¥R

(C) AT (D) =F

(E) rgaid o

Which of the following folk dance forms is more
popular in the Udaipur region of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Bamrasia (B) Kalbeliya
(C) Bhawai (D) Dhol Dance
(E)  Question not attempted

TSTEA & IA & H HIA-HT AR o HAH
g 87

frefefaa foeredt & & aaifas sugw s
(A) sERIEET (B) whIeSiferdm

(C) g (D) AT

(E) I g

An amount of ¥ 4800 is to be distributed amongst
A, B and C in such a way that the share of A is
40% more than the share of B and the share of C
is 20% less than the share of B. The share of ‘B’

1S:

% 4800 T THA T A, B 3T C o s 39 TR STl
STt & TR A 6T 91T B o 9T 9§ 40% 3T1reh & 91 C
T AT B ¥ 20% 4 2 B T 91T 2

(A) T 1500 (B) T2100
(C) T 1200 (D) 3200
(E)  Question not attempted / 3 )
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Seema invested ¥ 5000 each in two different
banks at simple interest for 2 years. The difference
between the simple interest received from these
two banks is ¥ 8. What is the difference in the rate

of interest of these two banks?

T T 3 STTT-STAT Sehl § Tk H T 5000
TEROT SATST UT 2 N1 oh fo1q foiarer fomam| it Sfent &

ITH GTUTOT SATST T 37X T 8 Bl I ST slehl oh oS

T T S T 27
(A)  0.8%

(B) 0.08%
©)  0.4%

D) 1.2%

(E)  Question not attempted / ?ﬂflflﬁ?f Tq

Approximate age of sexual maturity of a buffalo-
bull is:
Choose the most appropriate answer from the

options given below:

(A) 15 months

(B) 38 months

(C) 28 months

(D) 22 months

(E)  Question not attempted

Hie-3fg i Afireh qiuererar T STATH 11 Bt 2
frfafaa faeredt # & @aifae 3ug® 3T IA:
(A) 157E9

(B) 38WEH

(C) 28TEN

(D) 22%EH

(E) 3raid 9
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Match List-I with List-II

List-I List-II
(Trait A) (Contrasting
trait of Trait A)
a. Axial position .  Yellow
of flower
b. White colour II. Terminal
of flower
c. Greencolour ofseed III. Round
Wrinkled shape IV. Violet
of seed
Gfi-1 o | -1 3T et shifsre-
-1 -1
(ferwaT A) (FRrovear A
o feradia ferream)
a. TR Rafa L e
b. T T A% T L 3y
c. ATHETET L. e
d. S HglenAdL V. S

Choose the most appropriate answer from the
options given below:

it fo T foehed & @ waffaes 3ugw ot 74l

(A) a-IlILb-ILc-I,d-1V
B) a-ILb-ILc-1V,d-1I
(C) a-ILb-IV,c-I,d-1II
(D) a-IlLb-Lc-IV,d-1I
(E)  Question not attempted / afﬁﬁ_cr T

Arrange the following organs of respiratory
system of human beings in a proper sequence in
order of their occurrence:

a. Trachea b. Alveoli

c. Larynx d. Nasal cavity

e. Bronchi

frefafaa S ol o i ge9 yoneft 7 ST
Terfer TR S 3 | SR IS

a. A b. I (Tfeaae)
c. &3 (AT d. TR

e. GEAT (SHTS)

Choose the most appropriate answer from the
options given below:

et fo T forehed # @ waifae 3ugw Ia% Il
(A) a,c,d,b,e (B) d,c,a,e,b
(€©) c¢deba (D) daecb
(E)  Question not attempted / 313?!'&?[ BE
[ Contd...
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Which of the following are the parts of the human
excretory system?
a. Ureter b. Kidneys
c. Green glands d. Urethra

e. Urinary bladder

Choose the most appropriate answer from the

options given below:

(A) a,c,dandeonly

(B) b,c,dandeonly

(C) a,b,dandeonly

(D) a,b,candd only

(E)  Question not attempted

fafaRad & & #9-8 AT Icasi dFf o 9T 82
a. IljaT%:ﬁ b. TR

c. I TfmT d. ﬂj’qﬁ

e. HWARM

= faw e foehedt & & @atfares 3ug® ST 94:
(A) FacT a, ¢, d 3 e

(B) @dalb,c,d3Me

(C) wacia,b,d3e

(D) FacAa, b, c A d

(E) a9

What is the predominant material used for men’s
clothing in Rajasthan, since times immemorial?
Choose the most appropriate answer from the

options given below:

(A) Cotton (B) Polyester

(C) Terricot (D) Silk

(E)  Question not attempted

TSTET H W= S0 | T T o o forer Tehm
T TE I H ATIT ST 22

frfafead faeredt @ & @aifaes 3ag® ST
(A) ¥t (B) dffeTeEx

(C) <= (D) foo

(E) a9
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“Hamel” is an ornament worn by the Rajasthani
women around/on
Choose the most appropriate answer from the

options given below:

(A) Head (B) Ankles
(C) Waist (D) Neck
(E)  Question not attempted

qU/H T ST 2

frfafiaa faeredt @ & @aifas 3Ug® ST IH:
A) f& (B) @+

(C) =W (D) T

(E) rgaid o

Anaerobic bacteria digests animal waste and
produces biogas (change-A). The biogas is then
fuel (change-B).

statements pertain to these changes.

burnt as The following
Choose the most appropriate answer from the

options given below:

(A) Process-A is chemical change.

(B) Process-B is chemical change.

(C) Both process A and B are chemical
changes.

(D) None of these processes is a chemical
change.

(E)  Question not attempted

AR SETTy U] UMY HT I H TR
30T A & (AR A)| TR ST st S o '
T AT ST 8 (IR B)| 5 e 3 ufted = &
g

frfaiad fosredt 7 @ waifaed 3ugw ot I1:
(A) fSRAT-A T TETI TiEd 2l
(B)  fshaT-B Ueh T Uitad 2
(C) YT A 3R B HT TETa ek Iied &l
(D) T ¥ #g ol YHH TH TEEHES giEd
T 2
(E) raid 9
[ Contd...


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

86

87

Which of the following statements are correct?

a. Physical changes are reversible and stable.

b. Chemical changes are irreversible and stable.

c. Physical changes are reversible and unstable.

d. Chemical changes are irreversible and
unstable.

Choose the most appropriate answer from the

options given below:

(A) aandbonly (B) bandconly

(C) canddonly (D) aanddonly

(E)  Question not attempted

fAfRad & & -8 o a8 82

a. ¥iifces aiEde SeeRavier SR e a1 &)

b. TEE Tiad TR-ScRruiE 3 fier 2 2

c. iifcreh TiE SRRV ST SRR B &

d. TETIf aiEde TR-SeRauiie 37T STer Bl 2l

et faq T forshedt 7 @ wariferes 3uge Sav |

(A) FHATaIMb (B) Hadb 3N ec

(C) HaAc3IRd (D) HdcTaIid

(E) i@ yy

This non-metal is a good conductor of electricity-

Choose the most appropriate answer from the

options given below:

(A) Bromine

(B)  Sulphur

(C) Coal

(D) Graphite

(E)  Question not attempted
€ STTq Foreq 1 Ferrersh &

foreferfiae forehed & & wrarffres suzre St <:
(A) S

(B) HeW

(C) =R

(D) U

(E) 3l o1
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The metals that produce a sound upon striking a
hard surface are said to be

Choose the most appropriate answer from the
options given below:

(A) Malleable (B) Sonorous
(C) Ductile (D) Lustrous
(E)  Question not attempted

o ¢Tq ST IR AE 0 TER H § i S~ ohid
&, e &:-

frfaiad fosredt 7 @ @aifae 3ugw ut 91
(A) SATEITAaEd (B) AT

(C) @ (D) <9I

(E) 3@ g

Who was the founder of the Jat principality of
Bharatpur.

Choose the most appropriate answer from the
options given below:

(A) Churaman (B) RajaRam

(C)  Surajmal (D) Badan Singh
(E)  Question not attempted

AR o STTE REATHA o HEATIe i o9

et e e forepedt & & @=@ 3ug ST I
(A) FUHT (B) USTIH

(C) g (D) e fiE

(E) raid 9

Woman saint Daya Bai was a disciple of

Choose the most appropriate answer from the
options given below:

(A) Saint Ram Charan

(B)  Saint Nirbhayankar
(C)  Saint Charan Das

(D) Saint Ram Das

(E)  Question not attempted

B ISR CRDICIH < farsam offy
frefetRad fospedt @ & wafieres 3ag ST
(A) HITE=OT  (B) i
(C) "d=Ieg® (D) HAHIW
(E) raid
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Which of the following geographical terms is
associated with the climate of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Aamra Varsha

(B) Mavath

(C) Phoolon ki Bouchhar
(D) Kaal Vaishakh

(E)  Question not attempted

freafafaa & wF-dt Jimfaes sTeareaet TS 6t
EREIRKKCIPE RS,

Ffaiaa oot # @ waifae 3ugw s 94:
(A) H IS (B) TE3

(C) FAIHIEBR (D) A G

(E) a9

Most of the part of Rajasthan state comes under
which of the following climate zones?

Choose the most appropriate answer from the
options given below:

(A) Equatorial climate zone
(B) Temperate climate zone
(C) Polar climate zone

(D) Tundra climate zone
(E)  Question not attempted

TSTET TS T HATRIR AT e 5 § fopey Sterary
&1 o STTiT ATAT 872
Ffafea faeedl # & waifae g S 9

(A) R e &
(B)  SfiqIeor STeramy &
(C) gt ey &

(D)  ZogT SIcaTy &

(E) 3Tl o1

Which of the following rivers is not associated
with the Inland drainage system of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Kantli (B) Mantha

(C) Kakni (D) Banas

(E)  Question not attempted
FAfRad & & -6t & TSR o 31T
HAYETE T W Haiferd el 22

frfeiad fospedt 4 & waffers 3ug ST
(A) Hidelr (B) ®aT

(C) wIAT (D) s

(E) Srfaiayy
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Which of the following regions of Rajasthan
share their boundary with other states?

Choose the most appropriate answer from the
options given below:

(A) Nagaur (B) Pratapgarh
(C) Ajmer (D) Pali
(E)  Question not attempted

famafarfad & Tsrem s wH-ar & 7o T 3=
TSI o 9T ETST hidl 27

frfafad fosredt # @ watfae sagw® S0 TH:
(A) R (B) TG

(C) IR (D) At

(E) 3Igdita g

Which of the following rivers is in Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Bharali (B) Tungbhadra

(C) Godawari (D) Sabarmati

(E)  Question not attempted

ffefaa # 9 FF-df Td Teeam A 22
frfaiad foeredt # @ @aifae 3ugw ut 91
(A) Tt (B) st

(C) Teret (D)  GTeRut

(E) 3@ g

Which of the following statements is correct
about the red yellow soil in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) This soil is found in Bikaner and Barmer
area.

(B) This soil has enough quantity of lime and
nitrogen.

(C) It is not suitable for the farming of
groundnut and cotton.

(D) This soil is formed by the fission of granite
schist and gnesis rocks.

(E)  Question not attempted

TR | et Weft qar & ey 7 frefafeaa 4 8
FHI-HT YT e 22

frfaRaa foeredt 7 @ waifaes 3ugw o I1:
(A) I TaT sfterT 37T STHT &5 | ureft STt 21
(B) 38T H TTH HIAT § ST 3R ATSZISH 2T 2
(C) I HIIhedl qT HUTE hl Wt & [oTT 3T
T B
(D) I e fRree DTe qorm g T o forgued
a2
(E) rgaid 9
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According to the Census of 2011 which of the
following districts of Rajasthan had the highest
literacy rate?

Choose the most appropriate answer from the
options given below:

(A) Barmer (B) Kota

(C) Ajmer (D) Udaipur

(E)  Question not attempted

2011 st SFRTUT o STTER TSE o Frfarfiad §
& TorEr TSl ol |TeTaT ot waiieren off?

frfafiaa faeredt o & @aifas 3ug® ST IA:
(A) SR (B) e

(C) 3R (D) AR

(E) i@ yy

Which of'the following census years had recorded
the highest sex ratio in Rajasthan?

Choose the most appropriate answer from the
options given below:

fafafaa & @ forg af & SUET § ToEE §
Ffafaa oot # @ waifas ugw s 94:
(A) 1971 (B) 1981

(C) 2001 (D) 2011

(E)  Question not attempted / ﬂﬂﬁﬁ Tq

Which of the following statements is correct
about Salar forests in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) These forests are found in only the plain
areas.

(B) Its wood is used for making packing boxes.

(C) Itis found in Jaisalmer, Jodhpur regions of
Rajasthan.

(D) Pine is the chief tree of these forests.

(E)  Question not attempted

farmafafgd & @ Ha-91 e TS & IR o416
aH T Rl

frfeRad foskedt @ & wafiere Iug ST

(A) ¥ oot BT &= H U ST 2|

(B) 3HhI Sishiedl T TN Ukt i s |
fopam ST R

(C) I8 TUSTEAT o STACTH, STEYL &1 H YT STl
2

(D) <fie 3 a1 &1 T 94 2

(E) 3rgaid 9
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100 Which of the following Wildlife Sanctuaries is

101

102

103

situated in Rajasthan state?
Choose the most appropriate answer from the
options given below:

(A) Shant Ghati (B) Ramsagar
(C) Bandipur (D) Annamalai
(E)  Question not attempted

ffafaa 5 9 Hi9-a1 I=sie TR TS §
feera @2

frfafad fospedt # @ watfae sagw® SR T
(A) ST EET (B) THETR

(C) @ (D)  3FHeTTE

(E) rgaid o

If %ofx=%ofy=%ofz, thenx : y: zis:
?JﬁxEFF%ZyEFFS W%,ﬁx:y:z%r

Z =z
(A) 543 (B) 6:12:20
(C) 18:16:15 (D) 16:15:18
(E)  Question not attempted / 3@?‘&?[ el

A man buys an article at a price 20% less than its
marked price and sells it at a price 20% more than
its marked price. His profit percentage is:

e, ST fordlT o bl 3ifehd 7o & 20% F4 qed
T 5 ST & 3T SRt He | 20% 31k T W

ST ST 2l 38k T T Jfaerd 2
(A)  40% (B) 45%
(C)  35% D) 50%

(E)  Question not attempted / ﬂiﬂﬁﬁ 99

Two articles are sold at the same price. On one
article the shopkeeper gained 15% and on second
article he lost 15%.

percentage gain or loss?

What was his overall

(A) No profit no loss (B) 2% % gain
©) % % loss (D) 2}7 % loss
(E)  Question not attempted

3 FEE TF qeT W o= St 8 geet 9w W
THITRR 15% AT T T € ST Ta Teq T 15 %
BT ISTT 2| AT ST BT ohT et TTaIwTet T &7

(A) TAWITEE  (B) 2%
© T%ER (D) 2f%ER
(E) I g
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104 The Government of Rajasthan notifies ‘Amnesty | 106 Rajasthan E-waste management policy was
Scheme-2024" for settlement of dues in- formed and invoked in Rajasthan in the year
Choose the most appropriate answer from the _
options given below: Choose the most appropriate answer from the

(A) Pre-GST

(B) Post-GST

options given below:
TSR 3-3URTE Yarer Afd 1 ARH & T

ELRRCDIRID
(C) Future-GST S o .
frfafea fomeat o o wafferes 3ugw s IH:
(D) State and Centre GST g 4
A) 2021 B) 2022
(E)  Question not attempted (a) 20 B) 20
TSR T G “UHE AISHT-2024" o srehrarm (€ 2023 (D) 2024
F1 fgem 2a 27 (E)  Question not attempted / 3TN T4

107 “Goga Navami” is celebrated all over Rajasthan

frfafiaa faeredt o & @aifas 3ug® ST IH:

o in memory of:
(A) GSTYIHT

Choose the most appropriate answer from the

(B) GST a?tréﬂ'l'c[ Eal options given below:

(C) afI=-GST &1 (A)  Tejaji (B) Gogaji

(D) TSI T %5 GST &1 (C) Pabuji (D) Devnarayanji

E uestion not attempted

®) g gg)rmgrmﬁﬁﬁaﬁmﬁ%rhmqaﬁ’mw
105 Who chaired the Apex Committee of the ‘National 27 . .

Clean Air Prograrlrjlme’ on ‘Swach Vayu Divas’ Wﬁamﬁ\%aﬂﬁw%ﬁ:

(A) dSTStt (B) TIATTSY

(International Day of Clean Air for Blue Skies) ©) WIES!'T (D)  IFAREST

held at Jaipur in September, 2024? (E) aaﬂ'ﬁﬂ“q‘a'

Choose the most appropriate answer from the | 198  Which of the following is not an example of a

options given below: chemical change?

(A) Bhupendra Rana Choose the most appropriate answer from the

(B) Bhupendra Yadav options given below:

(C) Bhupendra Rawat (A) Rusting of iron

(D) Bhajan Lal Sharma (B) Formation of curd

(E)  Question not attempted (C) Crystallization

=S I feam (e st & foT @@= LR (D) Burning of magnesium ribbon

sl foaw) w fram-2024 # ST q T (E)  Question not attempted

T T AR R oh e i Y sTeear frefafad & & wF-a1 TaTafes aiEd 1 et

fore <1 TE

frfafiaa faercedt o & @aifas 3ug® ST IH: frfaiaa fosredt # @ waifae 3ugw € I1:

(A) E IO (A) R ST AT

(B) U= ARA (B) g& T SHAT

(C) =T (C) forzeefiator

(D)  9SH AT It (D) TS T o1 ST

(E) oA ue (E) Fuia ue
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To prevent rusting galvanised iron pipes are

coated with:

Choose the most appropriate answer from the

options given below:
(A)
(B)
©
(D)
(E)
TGO 3h1 STsRAT H R o UTSYT i ST § S o
fore formreft e =reré et 22

frfafeaa faeredt # & @aifaes 3ag® ST IA:
(A)
(B)
©)
(D)
(E)

Copper
Zinc
Manganese
Nickel

Question not attempted

ErGICH
[EE2

Hefter
EEX)
AR 94

Which of the following soil is found in western
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Mix red and black soil
(B)  Alluvial soil

(C) Desert soil

(D) Red and yellow soil
(E)  Question not attempted

frfefaa ® sni-eft gar e Tereer 9 arft STt
22

frfafad fosreat @ & @aifere 3ug ST
(A) THfsra aTet TR el gaT

(B) Ieilg HaT

(C)  wwwey e

(D) T SR el qar

(E) i@ yy
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How many Indian states share their state boundary
with Rajasthan state?
Choose the most appropriate answer from the

options given below:

foRa ST T TSTeer o T STo+T €T Trem
G R
frmfeiaa forsedt 3 @ warffarss 3uge o :

A) 2 ® 3
© 4 D) 5

(E)  Question not attempted / 317d )
While doing a calculation a quantity is wrongly

multiplied by 3 instead of 3. By what
percentage the answer will differ from the actual

answer?

Teh VAT A TH Ush WA U | TTerd! § %
3 AT 2 VT &) ST | AT S Y 31 B
e e wferarer fig=t B

(A)  166%% B) 1775%

©  1603% ® 1713%
(E)  Question not attempted / T )

Ravi covered a distance of 2 km with a certain
speed. By what percentage he should increase his
speed so that the time taken by him to cover the

same distance is reduced by 25%?

o e At e & 2 forrlt ot gt o o 81 390
7T =Tt <Rl foheT ST sret <t = foraer 3t

U 1 T H H U 25% HH T A2
(A)  25% B)  20%
© 163% ©  33+%

(E)  Question not attempted / 3 )
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Which famous temple of Rajasthan became
representative of the “Haveli” form of temple

architecture?

Choose the most appropriate answer from the

options given below:
(A)
B)
©)
D)
(E)
TS T -8 THg -G, Hi-aT ATEqohetl &
“gIAT” T R FlAIT ST
Freaferfia et i & rafores sugw o0
(A) TR AR

(B) IR HRR

(C) iciehe HeERd @i Aft

(D) uTEHTY ST AT

(E) i@ yy

Nathdwara temple
Pushkar temple
Temple of Nilkanth Mahadev

Temple of Parsvanath

Question not attempted

The Goddess Kaila Devi is considered an

incarnation of:

Choose the most appropriate answer from the

options given below:

(A) Bhadra Kali

(B) Durga

(C) Mahalaxmi

(D) Parvati

(E)  Question not attempted

T 3ot 3 FehmTohT STETR /T 7T &2
Freferian frpedt § & warifire Suw ST
(A) ST SRICT

B) g

(C) wETcTeHt

(D) et

(E) rfaiayy
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In which famous temple of Rajasthan do we find
rats by the thousands?
Choose the most appropriate answer from the

options given below:

(A) Kaila Devi Temple

(B) Jeen Mata Temple

(C) Ma Tripur Sundari Temple
(D) Karni Mata Temple

(E)  Question not attempted

TSTET o foh Witg Aifat 3 &SI oht 6T o =8
T ST &

frfaiad fosredt 7 @ waifaed 3ugw u 91:
(A)  SherT <ot Afeet

(B) ST #TaT HiveT

(C) Hf P g=d af-ax

(D) STt TTaT Afat

(E) ergaiayy

Which of the following lakes is situated in
Rajasthan?

(A) Nokuchiyalake (B) Pichola lake

(C) Koleru lake (D) Lonar lake
(E)  Question not attempted

Tt 3§ @ -6 sie aseer o feq 22
(A) TgtEnsia (B) TRETHA
(C) =i e (D) HR 3T
(E) I g

Which of the following National Highways
passes through Rajasthan?

(A) National Highway no - 83
(B) National Highway no - 11
(C) National Highway no - 40
(D) National Highway no - 73
(E)  Question not attempted
frfafed & & wF-A1 TS TSEE TR
B TSI 82

(A) TSI TSI HE&AT - 83
(B) TS U 6T - 11
(C) TSR TSHT E&AT - 40
(D) TS ST G - 73
(E) rgaid 9
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119 Palash forest is a sub-type of which of the | 121 Which of the following are the dominant traits for

following forests in Rajasthan? seeds of garden pea plants?

Choose the most appropriate answer from the Choose the most appropriate answer from the
options given below: options given below:

(A) Tropical/dry deciduous forests (A) Green and wrinkled

(B) Sub-tropical mountains forests (B)  Yellow and round

(C) Mangrove forests (C) Green and round

(D) Tropical thorn forests (D) Yellow and wrinkled

(E)  Question not attempted (E)  Question not attempted

T # v 3 o Feffad 3 8 fre o o Tererfetfie & & -8 T et o el o sfieil
Teh 39 TR B2 for srvaTeft wreqor 22

frfeiad fospedt # & wafiere Iug ST frfafad fosheat # @ waifaes Iugw® S0 I
(A)  Swrehfasefia/sreh Yot o (A) TSR FHR

(B) 3o il & (B) i AR M

(C) Tmaad (C) TUIRMA

(D) WIS shied o (D) e i gifar

) AT (E) 3@ g

! o . . . 0
120 Mendel performed his  experiments of 122  Which of'the following is not a law of inheritance?

hybridization on- Choose the most appropriate answer from the

Choose the most appropriate answer from the options given below:

options given below: (A) Law of Segregation

(A) Albino mice (B) Law of Independent Assortment

(B) Drosophila (C) Law of Dwarfness

(C)  Sunflower (D) Law of Dominance

(D)  Sweet pea (E)  Question not attempted

(E)  Question not attempted Prefafaa ¥ & T W =1 Fora T 20
T ST T S o o7 oo faeves & v 3 o
ffaRad foshedt & @ afferes Sugw 3 o ” ;
w R N N (A) W?ﬂﬁ'ﬂ'ﬂr

®) S (B) G U T R

© (C) it &t o

D) e e (D)  wTferar @t frm

(E)  srfa s (E) I g
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In which city of Rajasthan is the “Desert Festival”
held every year?

Choose the most appropriate answer from the
options given below:

(A) Jodhpur (B) Jaisalmer
(C) Barmer (D) Pokhran
(E)  Question not attempted

TSI & fohH Tt § giqas “Heedd Hereqa”
SRS ToraT ST 22

frfaRad fospeat @ & @atiere Iug S
(A) ST (B) SEe

(C) dMEH (D) 9@

(E) Srfaiayy

Which Rajasthan city plays host to the Camel
Festival every year?
Choose the most appropriate answer from the
options given below:

(A) Jhunjhunu (B) Sikar
(C) Bikaner (D) Jaisalmer
(E)  Question not attempted

TSN T HIH-AT I iy 3¢ Haredd i
TSI T 29

freaferfiaa foreredt # & @affere 39w 3ot I
(A) T (B) HRt

(C) iR (D) JEAR

(E) a9

The smallest 5 digit number which is exactly
divisible by 6, 7 and 8 is:

5 3feh! I HeE BT WE&AT I 6, 7 IR 8 ¥ qUid:
forfora 2t 2

(A) 10000 (B) 10168
(C) 10080 (D) 10056
(E)  Question not attempted / ﬂfﬁﬁﬁ Iq

Three numbers are in the ratio of 3:4:5 and their
L.C.M is 960, then the sum of these numbers is:

T HEATE 3:4:5 o I H € AT 3BT AGAH

AT 960 &, AT HEATSAT 1 AT &
(A) 144 (B) 192

(C) 180 (D) 240

(E)  Question not attempted / 31':!3’['\{?[ Tq
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127 The selling price of 10 articles is equal to cost

128

129

price of 12 articles. The percentage gain or loss in

this transaction is:

(A) 20% gain (B) 20% loss
(© 33%%loss (D) 163% loss
(E)
10 &Gl 1 forshd 7o 12 I&q3AT % 69 0od &
T B 39 -3 T T 3T BT ohT Tfaerd 2:
(A) (B) 20% =T

© BIwah D) 16%% e

(E) 3@ g

Question not attempted

20% <™

Amit deposited ¥ 2500 each on 1% January and 1%
July of a year in a bank which offered 8%
compound interest compounded half yearly. The
interest earned by Amit at the end of the year

was:

AT 7 IAH TR T 2500 TEAT SR qAT TEAT
SIS 1 T Sk § ST TR it 8% <shafe s
AT & 3T TS T BHTR] GASI T STt 81 a9

3T | AT Bl ITH ST st R off-
(A) T306 (B) 300
(C) %304 (D) 308

(E)  Question not attempted / 3 R
Where is the ICAR National Research Centre on
Camel located in India?

Choose the most appropriate answer from the

options given below:

(A) Jaipur (B) Bikaner
(C)  Jodhpur (D) Dungarpur
(E)  Question not attempted

ATl B 1T Y T ST HT TS S SR e il
o3 g 22

frmfeiaa foshedt 7 @ warffarss 3uge o I1:
(A) R (B) dfi#mT
(€) SR (D) $RE
(E) rgaid 9
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Which of the following is not a crossbreed cattle
strain?
Choose the most appropriate answer from the

options given below:

(A) Sunandini (B) Karan Swiss
(C) Rathi Gir (D)  Frieswal

(E)  Question not attempted

frefafad o & -dt Horefl it Het 75 T8 82
Frerferfian faaresit & & wrarifores Fuaes S -
(A) gl (B) F =g

(C) THfR (D) hiEaETe

(E) 3Tl o1

Which of the following is known as the milk city
of India?
Choose the most appropriate answer from the

options given below:

(A) Anand (B) Asansol
(C) Durgapur (D) Gandhinagar
(E)  Question not attempted

fretfcrfaa o & fortr A =1 g wrew (fiesh )
SHET ST 27

frfaRad foskedl @ & @aiiere 3ugw Sat 91
(A) AUiE (B) IETHIA

(©) U (D) TR

(E) 3Tl o1

Internal fertilisation does not occur in:
Choose the most appropriate answer from the

options given below:

(A) Cows (B) Dogs

(C) Frogs (D) Hens

(E)  Question not attempted

ffefaa = & fore sia: foem 72 sran
frfafad faeredt 4 & @aifaes 3ag® ST IA:
(A) TEH (B) FaTH

(C) WewH (D) wiH

(E) 3l o=
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Milk is deficient in
Choose the most appropriate answer from the

options given below:

(A) Vitamin A

(B) Iron

(C) Vitamin B12

(D) Calcium

(E)  Question not attempted
T i et Bt 2
Freiferfa et & & watfre sage 3o
A) foafma

(B)  TIeT (311%)

(C) ﬁzrﬁmlz

(D) Ffeaaw

(E) 3Igdia g

Farming that combines crop production with
livestock raising is called:
Choose the most appropriate answer from the

options given below:

(A) Mixed farming

(B) Dairy farming

(C) Mosaic farming

(D) Jhoom farming

(E)  Question not attempted

FEC ICUTEH FHI IR T, ST ohl Egh Wil b
FEd T

frfafad fasredt # @ waifae 3ag® SR T
(A) Tufsa @t (freree wifdm)
(B) ST wIHT
(C) ISk BIfHT
(D) FHE
(E) raid
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For feeding cattle, goat and sheep, which of the
following is/are not used as fodder crop(s)?

a. Maize

b. Legumes
c. Cotton

d. Rice

e. Barley

Choose the most appropriate answer from the
options given below:

(A) aandeonly (B) banddonly

(C) conly (D) Dbonly

(E)  Question not attempted

fafafaa 7 & fora mafyrn, st ot 9ei & fog
TR o &9 H AT T fohaT SITr?

a. Heehl

b. it

c. U™

d. o™

e. S

et faq T forehedt 7 @ wariferes 3uge St |
(A) FaTadMe (B) e b 3 d

(C) Hadc (D) HaAb

(E) 3Tl o1

Which of the following statements is incorrect?
Choose the most appropriate answer from the
options given below:

(A) Almost all metals combine with oxygen to
form metal oxides.

(B) Most metal oxides are soluble in water.

(C) Metals react with water and produce a
metal oxide and hydrogen gas.

(D) Metal oxides are basic in nature.

(E)  Question not attempted

frmfafea & & wH-a1 e g T8 22

Ffafia oot # @ waifas ugw s I4:

(A) T gt O TS | “afifr w5
T % SATRATSS ST &

(B) ATrehat aTqAl o TS ot H eI
&4 €l

(C) 9qE S & AR Fdt & R 91q &
SATFETZES AT BIESISI 119 Ica= el B

(D) ©Tq % SATRTES Wehfel F &R &It &

(E) i@ yy
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Select the incorrect statement with reference to
metals.

Choose the most appropriate answer from the
options given below:

(A) Gallium melts when kept on a palm.

(B) Sodium is so soft that it can be cut with a
knife.

(C) Mercury is liquid at room temperature.

(D) Bromine is a very rare metal.

(E)  Question not attempted

ATGHAT o W H I HU T <A HITSIC ST HET Tl
2l

ffafad fasheat # @ waifaes Iug® S0 I

(A) e el W W o T St 21

(B) WITST™ 3aT T4 BIaT & foh 39 =T & hrer S
TR 2

(C) URT (Wehil) TTHIRT HeT o ATIH W A
BT B

(D) S U getw g |

(E) Agdia s

Concave mirrors are used in-
A torch
Side mirror of vehicles

a.
b.
c. Head lights of vehicles
d.

Choose the most appropriate answer from the

Solar cookers

options given below:

(A) a,bandconly

(B) b,canddonly

(C) a,candd only

(D) bandconly

(E)  Question not attempted
1T gUUTT ohT SUFRT fohalT ST 2 -
a. JAH

b. d@Tedt & urd (d1ge) guur

d. GRFHH

e fo e foreredt & @ waiferes SUg S |
(A) FadTa, b3

(B) dab, ¢ 3 d

(C) odacTa,c3Nd

(D) HaIAb IR

(E) It g
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The singing of Rasia accompanied by the playing
of Nagada is associated with which type of

dance?

Choose the most appropriate answer from the

options given below:
(A)
(B)
©)
D)
(E)
TS 3 wre W T fohe e & waifera 22

frfafeaa faeredt # & @aifaes 3ag® ST IA:
(A)
B)
©)
D)
(E)

Ghoomar Dance
Kalbeliya Dance
Terahtali Dance

Bamrasia Dance

Question not attempted

FUSC
AT T
ATt I
FERRET T
AR 94

Name the first Chief Minister of the United State
of Greater Rajasthan.
Choose the most appropriate answer from the

options given below:

(A) Bhairon Singh Shekhawat
(B) Hira Lal Shastri

(C) Jai Narayan Vyas

(D) Mohanlal Sukhadia

(E)  Question not attempted

TIH qeg TSI TN & Tecd @A 1 AH
AT

frefafaa faeed # & aaffars sugw s T
(A) W f¥E SrEmEd

(B) I TS T

(C) ST A0 AT

(D) WA gt

(E) i@ yy
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Which of the following physiographic features is
not found in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Aravali Mountains

(B) Thar Desert

(C) Coromandel coast

(D) Hadoti Plateaus

(E)  Question not attempted

frfafed o S s-smefa TS 7 T2 arft
STt 82

frfafad faered # & @aifere 3w o I
(A) STE ydd

(B) YR HEEIA

(C) HRMTSH ac

(D) TR YR

(E) I g

Alluvial soil is found in which of the following
regions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Northern and eastern part of Rajasthan
(B) Northern and western part of Rajasthan
(C) Eastern and western part of Rajasthan
(D) Western and southern part of Rajasthan
(E)  Question not attempted

el HaT TS o et 3 & forer & 3 urft St
2

frfafad fasreat # @ waifas 3agw SR T
(A)  TSTET 3T IR SR YT 9T

(B)  TSTEATT T Tl ST qiSrt 9T

(C)  TSTeIT o1 Yeff SR et |

(D)  TISTEATT ot UfeHt 37T gfeqoft s

(E) Agaia s
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Ghagghar plain is a sub region of which of the
following physiographic divisions of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Western desert plain region
(B) Aravalli region

(C) Semi-arid dry region

(D) Eastern plains region

(E)  Question not attempted

PO T HE TSTEA o fohd siimifereh fomsi =t
Teh 3UE 27

FrfcTfiad foshedt § @ waifere 3ug S I
(A)  ufsre Feeoreli fem &

(B) et &

(C) - &l

(D) et Aart &

(E) a9

Which of the following is the tallest breed of
sheep in India?

Choose the most appropriate answer from the
options given below:

(A) Nellore (B) Deccani
(C) Bikaneri (D) Nilgiri
(E)  Question not attempted

frafafaa 7 @ arg § 93 H -t T g5
AT R?
FfcTiiad foshedl # @ waifares Iug St 91

(A) TR (B) Al
(C) et (D) T
(E) 3raid 94

Starch adulteration in milk can be detected by
using:

Choose the most appropriate answer from the
options given below:

(A) Iodine solution (B) Bleaching powder
(C) Chalk powder (D) Sulphuric acid
(E)  Question not attempted

T H £ oh fretTere shr et T T hleh
SUIRIESIREC IR

frfeRad fospedt # & wafiere Iug ST
(A) STRSH T

(B) T TIST (SAIT UISER)

(C) Tk UL

(D) W

(E) 3raid 9
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146 Match List-I with List-1I:

List-I (Product) List-II (Description)

a. Butter milk I. By -productin
preparation of
chhena and paneer

b. Skim milk II.  Soft drink made
of whey

c. Whey III. Fat separated milk

d. Whevit IV. Fluid obtained by
churning of cream
into butter

=T-1 % |1 G=i-11 T et shifere;

eI (37Te) 11 (fererom)

a. 9SS L SRR

9 | 37 - 34T

b. ferm faen I 9% I 8 ST o

c. AFUM () M FEeagy

d. =fae IV. 3hIH T 7Y T T
T © ITH T gared

Choose the most appropriate answer from the

options given below:

= faw o ferepedt & & watfare Suges ST T
(A) a-IIIb-I,c-1IV,d-1

B) a-II,b-Lc-IV,d-1I

(©) a-1V,b-1l,c-1,d-1I

D) a-1V,b-Lc-1,d-1III

(E)  Question not attempted / 31':13?1”&?[ BE
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148

List-I (Disease) List-II (Causal organism)

a. Chickenpox I.  Protozoa
b. Typhoid II. Fungi
c. Malaria I Virus

d. Ringworm IV. Bacteria

LRI ERIRECIRIERESIEEISLE
-1 (@) -1 (R )
a. Tosadem 1 WiaNeT

b. TEREE II. %%

c. Taf@r 101 oo (amre)
d. @@ (fod) 1. Sftam EifE)

Choose the most appropriate answer from the
options given below:

e few T fereredt # @ watiere IUgT ST I

(A) a-ILb-1V,c-1,d-1I
(B) a-1V,b-ILc-ILd-1I
(C) a-NLb-ILc-1IV,d-1I
(D) a-1V,b-1,c-1Id-1I
(E)  Question not attempted / 31@?!‘&?[ il

Select the problems which are not caused through
polythene.

a. Cause hurdle in drainage system

b. Cause of death of cattle

c. Cause diseases like asthma and jaundice

d. Allow the rain water to be absorbed in the
soil

e. Danger to fertility of soil

Choose the most appropriate answer from the
options given below:

(A) a,dandeonly (B)
© D)
(E)  Question not attempted

I IEATS B R S diferefi o T T A 2|
a. 3TYATE A H STHT HT HROT

b. HATTT H 7T T HROT

c.  ITEET R AT S T hT SHROT

d

e

b and d only

c and d only a, c and e only

ERISEEIR R ICEN LURE R
. Tt sear & fow @
et faw T forehedt 7 @ warffares 3uge ot I:
(A) Hada,d3Me (B) HadbiNd
(C) HaAc3IRd (D) hdcla,c e
(E) Srfaiayy
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Which of the following diseases cannot be
prevented by using vaccine?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted

frfafea & & fore W &1 JodA g1 ST T
[ERIEIKETIR S

Frmfeia frchedt § & wratfires 3uge S0
(A) ==F

(B) TUemfem

(C) TRdl

(D) dufgs (T.B.)

(E) I g

Small-pox
Hepatitis
Scurvy

Tuberculosis (T.B.)

Which of the following is not a viral disease?

Choose the most appropriate answer from the

options given below:
(A)
B)
©
D)
(E)
o o & - o formo (e St T e 22
frfafad fasheat # @ waifae Iug® S0 T
INEREETRC:)

(B) wHU

(C) uiferar

(D) IEARES

(E) SIqaia s

Chicken pox
Measles
Polio
Typhoid

Question not attempted
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